
Math 41 Quiz 3 
8:30am — 9:20am Version R 
Fri Apr 27, 2012 

NAME YOU ASKED TO BE CALLED IN CLASS: 

   

GRAPHING CALCULATOR REQUIRED ON THIS PORTION 
PUT A BOX AROUND EACH FINAL ANSWER 

Let  f (x)  =  20 + 8x — v SCORE: 

 

/ 4 PTS 

   

[a] f has one zero. Find the zero  to 2 decimal places. 

(a7 

[b] .f has one local minimum. Find the x — coordinate of the local minimum to 2 decimal places. 

[c] Find the interval over which f is increasing. Write your final answer in interval notation to 2 decimal places. 
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[h] 	f has one local minimum. Find the x — coordinate of the local minimum to 2 decimal places. 

[c] 	Find the interval over which f is increasing. Write your final answer in interval notation to 2 decimal places. 


